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Q1. In AABC, point D and E are in sides AB and AC respectively such that DE||BC and DE, divides
AABC in two equal areas. Accordingly, what is the ratio of AD and BD?

T AABC &, gD 3R E HAA: $T AB IR ACW 58 R ¢ fS8@ DE||BC 3R DE, AABC
@I &Y FAA &TThel H AT AT 8. 38 3HTAR, AD 3 BD I 3HeIaTd T 87

(@) 1:42
(b)1:4/2+1
(01:1
(d1:v/2-1

Q2. X and Y are the centers of the circles with radii 9 cm and 2 cm long respectively and XY =17
cm. Z is the center of a circle whose radius is r cm and this circle touches externally the other
two circles mentioned above. Accordingly, if ZXZY = 90°. what will be the value of r?

X 3R Y waer: oW 3R 2@ A fF Brsar arer gt & & § AR Xy= 7AWz 39
gd &7 g ¢ o Bear @@ § 3R T8 g 3T & gal @ 9l ¥ @ T g

g% AR, Tl £XZY =90° §.r T A FIAT gl
(a) 9 cm

(b) 8 cm

(c) 13 cm

(d) 6 cm

Q3. The number of sides of two regular polygons are in the ratio of 1 : 2 and their interior
angles are in the ratio of 2 : 3. Accordingly the number of sides of the polygons are respectively?

&l fAIfAqT Sgefell & 98T 1:2% Heqard & § 3R 39 RS PIOT 2: 3% I # &,
TR SheAT: slgago'l\i % J&T TET ¢

(a) 4,8

(b) 7,14

(c) 6,12

(d) 5,10

Q4. E is the midpoint of the median AD of AABC. BE when produced, intersects AC in point F. If
AB =18 cm, AC =15 cm and BC = 20 cm, then the length of CF is?

EUsh TI3sT ABC b ®TT®TeI AD &7 e fdg §. 59 BE oI fa&dd fham oirar & dr ag &g
F 9T ACI @ledr §. Ife AB= 1888, AC= 158.8" 31K BC=20@.#, ar CF & &=g &
(a) 5 cm

(b) 10 cm

(c)15cm

(d) 18 cm

Q5. An equilateral ATQR has been formed inside a square PQRS. Value of 2PTS in degree is?
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Teh FHIST TS TQR & Uesh gaT PQRS & 3eX §oIrar Jr g. f3all & LPTS o1 &= &rar

e

(a) 75°
(b) 90°
(c) 150°
(d) 15°

Q6. ABCD is a quadrilateral inscribed in a circle with center O. Accordingly if 2COD = 120° and
£BAC = 30°, the value of ZBCD will be?

ABCD Ueh &g 0 dldl g & 3ieX AT Th uqelsl & deelar Ife 2CoD = 120 33l

3R 2BAC =30 f23ft, O «BCD & AT &7 MY
(a) 75°
(b) 90°
(c) 120°
(d) 60°

Q7. The diagonals of rhomus, are 18 cm and 2 cm long. The length of its side will be?
Teh FHAUGAS & faenol 189 & 3R 28, 71 o §. HRT M3t T ofarg grane?
(a) 16 cm

(b) 15 cm

(c) 20 cm

(d) 17 cm

Q8. The diagonal AC of parallelogram ABCD is the bisector of ZBAD. If ZBAC = 35°, then 2ABC =
?

Tsh FHGIR Tdesl ABCD @I fdehul AC £BAD &1 gfaemels §. Ife «BAC = 35°, ar
£ABC=?

(a) 70°

(b) 110°

(c) 90°

(d) 120°

Q9. The diagonals of parallelogram ABCD intersect in point O. If ZBOC = 90° and £BCD = 50°
then £0AB =7

Teh FAGIR TS ABCD & fdehol fdg 0 W Tehgal & &led §. IfE £BOC = 90° 3N

£BCD =50°dT 20AB =?
(a) 40°
(b) 50°
(c) 10°
(d) 90°

Q10. In trapezium ABCD, AB||BC and M and N are the mid points of sides AD and BC
respectively. If AB=12 cm, MN = 14 cm then CD =7?

THIFS ABCD #H AB||BC 3R M 3R N HHAU: $eT AD 3R BC & AT foq €. I AB = 12

. MN=143. Hrarcp=7
(a) 10 cm

2 www.bankersadda.com www.sscadda.com www.careerpower.in | www.
adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.careeradda.co.in/
http://www.careeradda.co.in/

(b) 12 cm
(c) 14 cm
(d) 16 cm

Q11. P is the mid point of BC in parallelogram ABCD. If ZBAP = 2DAP and AD = 10 cm, then CD =
?

P Ush AR TJssT ABCD & BC T #eyg g & Ffe £BAP = £DAP 3R AD = 10 &. #1, oY
CD="?

(a) 5cm

(b) 6 cm

(c)8cm

(d) 10 cm

Q12. ABCD is a trapezium in which AB || CD and AB = 8 cm. If area of AABD is 24 cm?, then the
height of AABC is?

ABCD U&h O#HeFd § ToH3 AB || CD 3R AB = 8 &. #. Ife AABD &7 &19%er 24 ¥. #1% &, ar

AABC i Far$ fardelr 87
(a) 3cm
(b) 4 cm
(c) 6 cm
(d) 8 cm

Q13. AB and CD are the chords of a circle such that AB || CD, AB =6 cm and CD =12 cm. If
distance between AB and CD is 3 cm, find the radius of the circle?

AB 3R CDU& gd f& A1 50 &R & f589d AB || CD,AB=68. M AR CD =127 A afe

AB 3R CD & &g foh g 3. # &, o g Toh Sam A1 hiforare

(a) 6.7 cm
(b) 6.3 cm
(c) 5.7 cm
(d) 6 cm

Q14. ABCD is such a trapezium in which AD || BC and diagonal AC and BD intersect in point O.
Accordingly AO =3,C0O =x-3,B0 =3x- 19 and DO = x - 5. The value of x will be?

ABCD 38 YR Teh HHeld § for@# AD || BC 3R AC 3R BD & fa&ol fdg 0 W T gy

FI Fled g. 38T TR A0=3,C0=x-3,B0=3x- 193 DO =x-5.a x T AT FAT M’
(a)7,6
(b) 12,6
(c) 7,10
(d) 8,9

Q15. The slant height of a square based right pyramid is 4 m and the area of slant surface is 12
m?, then the ratio of the areas of slant surface and base of pyramid is?

Th IR TR dTr FA ORIfAs &F ORdr Fa 4 MAex § 3R RS adg aawa

12712 §, o TS @clg ataher 3R WA & 3R 1 35eura F#41 g7
(a) 16: 3
(b)24:5
(c)32:9
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(d)12:3

Q16. Two temples are situated each at two banks of a river, face to face. One of the temple is 54
m high. The angles of depression of the top and bottom of the second temple from the top of the
first are 30° and 60° respectively. Accordingly the height of the other temple is?

ar #Afex T AT F o fFART W IS I Tyg . AR 7 @ s 54 #Hiex 347 §.
G HGT & MY HR Tl F1 IaeAAdT ST Ygel & MY & shaver: 30 39 3R 60 foaft
.58 AR 3T AY & Furs gl

(a) 18 m

(b) 36 m

(c)36V3m

(d) 18v3 m

Q17. The angle of elevation of cloud from a point h meter above the surface of a lake is 30° and
the angle of depression of its reflection in the lake is 60°. Accordingly, what is the height of the
cloud from the surface of the lake?

T ST T Tcdg ¥ h HX FW Toh §g @ deel & 3e1ded HIOT 30° 3R el & 38
TS & HATHT HIUT 60° §. FHb TR ST T g A dleel Sl IS F47 g7
(a) V2 hm

(b) 2 hm

(c) V3 hm
(d) 1 hm

Q18.If A + B = 90°, the value of sec* A + sec® B - sec? A. sec” B will be ?
gfe A+B=90° sec®A+sec?B-sec?A. sec’B &l AT gla:

(a) 2

(b) 3

(0
(d1

Q19. In AABC, the internal bisectors of ZABC and 2£ACD, intersect in point O. Accordingly if
2BOC = 110°, what will be the value of ZBAC ?

AABC #, £ABC and £ACD & 3R cfasmeis foig O W #led §. 38F IqaR IS

£BOC=110° § d 2BAC &T AT T gM?
(a) 40°

(b) 55°

(c) 90°

(d) 110°

Q20. Two circle with radii 5 cm and 3 cm intersect in two points and the distance between their
centres is 4 cm. Find the length of their common chord?

al ged Toeteht Bsar 5 @ 3K 3 Qo 8, & et W Fed § 3R 36 Foal & @i
1 gl 4 QA § A SoAehT 3HATIse SIamsil 1 oFars AT Hifore?

(a) 3cm

(b) 5cm

(c)6cm
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(d) 4 cm

Q21. A and B are the centers of two circles with radii 5 cm and 3 cm respectively and they touch
each other internally. If the right bisector of AB intersects the larger circle in point P and Q, the
length of PQ will be?

AR B @ gedl & g § oot Foar waAen: 5 @ 3K 3 a#f § 3R 3 3aRks &7 @
Teh gEY H TIF A §. Il AB T T gfaerrsieh fdg P AR Q W o3 god &l el &
ar PQ &1 ofFeTS T Brefr?

(a) 5cm

(b) 4V6 cm

(c) 6vV2 cm
(d) 3cm

Q22. A, B and C are three points on a circle such that chords AB and AC subtend 90° and 110°
respectively at center O of the circle. Find £BAC?

A BIRC T ged W i g & 38 JhR Jod & dg 0 W Shar AB 3R AC T 90°
3R 110° X &l §, £BAC AT HIfSTT?

() 80°

(b) 70°

() 60°

(d) 104°

Q23. In the given figure four points A, B, C and D are on the circle. If chords AC and BD intersect
in point E, such that ZBEC = 130° and 2ECD = 20°, find 2BAC?

& I 3Pfd A, dod W TR foig A B,C3R D 8. I Sfar ACHRBD g E R e
g a £BEC =130° 3R £ECD = 20° @1ar &, <£BAC 3T Hifore?
D

(a) 40°
(b) 65°
(c) 110°
(d) 90°

Q24. When angle of elevation of the Sun decreases from 40° to 30°, the shadow of a tower
increases by 60 m. Accordingly the height of the tower is?

I FIST T 3oieT HIOT 40°  30° ©C AT § of Teh A T ST H 60 AT T I
glcl 8. 3Hh 3ER TR & FA1S glar 87

(a) 20(¥3+ 1) m

(b) 24(v3+1)m

(©)30(+v3+1)m
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(d)30(v3-1)m

x+Vx2-1  x—vVx2-1
: : . v .
Q25. What will be the value of x on solving the equation v T 147

gafeor SVl AVl g iy O x @ HIST FT g

x—Vx2-1  x+Vx2-1

(a) +8
(b) -6
(c) x2
(d) £4

Q26. Two equal circles with centers O and O’ intersect each other in point A and B and 00’ = 12
cm, AB = 16 cm, then the radii of the circles will be?

al FAE Jea oot dhg 030 § Th g &l &g AR B W &ed § 3R 00 =12
QA AB= 16 QY § o el T Fsar &=r grefr?

(a)12 cm

(b) 14 cm

(c)10cm

(d) 8cm

1+tané 1—tané .
)wﬂlbe?
1-—tané 1+ tané

)wmwg‘ﬁm‘?

Q27. The value of (2 cos®* 8 - 1) (

20 _ 1+tan6 . 1—tanb
(2 s 0 1) (1 —tanf  1+tan@
()3

(b) 2
(c)4
(d)1

Q28. What will be the circumradius of the triangle formed by the line 3x + 4y = 12 and the co-
ordinate axis?

T 3x +4y =12 3R 36T THT @ Falr Foger A aRBsar F7ar gefe
(a)2
(b) 2

(c) 2
(d)6

Q29.1In AABC, £B =90° and AC =5 cm. Taking A as center and AC as radius a circle is drawn. the
length of the chord that joins points C and E will be?

AABC #H, £B=90°3RAC=53# § #AT olifolT A &g 3 AC Tsh &g W A1 g Sar

$r oS S g ¢ 3R E H s &, @ e
(a) 3cm
(b) 4 cm
(c)5cm
(d) 6 cm
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Q30. Two diameters AB and CD of a circle with center O are mutually perpendicular. The length
of chord AC will be?

U Jodl & a8 AB AR CD €. 2T < AB 3R CD &g & &Y Toh Jod W RER ofddd 8.
Shar AC 1 Jea1s Fa1 gefr?

(a) 2AB
(b) V2
(c);AB
1
(d) 5 AB
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